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Time: 2:30 Hours 
Instructions: 

yA3 

1. All questions are compulsory. 

Q.1 

2. Figures to the right indicate marks. 

Q.1 
Q.2 

Q.2 
Q.3 

Q.3 
Q.4 

EYBA -sC) 

Q.4 
Q.5 

SOCIOLOGY: P1 INTRODUCTION TO SOCIOLOGY-1(CORE) 

HHUTAUAol i 

B.A, Semester - 1 (CBCS) Examination Oct/Nov. -2019 (NEW COURSE) 

(1) äe_loi ceel. 
(2) UYUA0 H^ra. 

BAOSocCC1010 

, Aoi siaaol 4l . 

(3) U%UA Uo HloA. 

ENGLISH VERSION 
Explain the meaning of sociology and discuss the scope of sociology. 

OR 
Describe the relationship of sociology between economics and history. Give the meaning of secondry group and Discuss the characteristics of secondry group. OR What is social science? Explain the sociology Importance of social Science. Give the meaning of sociolazation. Discuss the agencies of sociolazation. 

OR Compare the primary and scondry group. 
Give the concept of culture and Discuss the Importance of culture. 

OR 

(2) Importance of sociology. 
(3) Sociology and Anthropology. (4) In group and out groups. 

Discuss the factor of personality moulding & development. Explain: (any two) 
(1) Charateristics of culture. 

Seat No : 

***** 

Lok 

Marks: 70 

(18) 

(8) 

(18) 

(8) 

(13) 

(14) 

(14) 

(14) 

(14) 

(14) 
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Time: 2:30 Hours 
Instructions: 
1. All questions are compulsory. 

yA.3 

yA.3 

2. Figures to the right indicate marks. 

Q.1 

Q.1 

Q.2 

Q.2 
Q.3 

Q.3 
Q.4 

Q.4 
Q.5 

(1) yulol yse. 

SOCIOLoGY: P2 INDIAN SOCIOLOGY-1(CORE) 

(2) UU ARl0 

B.A. Semester - 1 (CBCS) Examination 
Oct/Nov. -2019 (NEW COURSE) 

(4) L-le aalyoul. 

BAOSocCC1020 

UUlo. 

(3) eLRdd0 UElulelj auls qallseg. 

ENGLISH VERSION 

Explain the constitution of population in India. 

Give the introduction of tribal social life. 
Describe the various patterns of tribal life style. 

OR 
Describe the function of Tribal youth dormitory. 
The social importance and population of religious group in India. 

OR 

OR 

Describe the distinguish Language form and problem in India. 

(1) Types of youth dornritories. 

Tradition business and newly development business in rural area elaborate. 

Give the meaning of urban community, state the characteristics of its. 
Write short note: (any two) 

(2) Reconcitiation of language problem. 

OR 

Seat No : 

(3) Geographical classification of Tribal communities of India. 
(4) Rural Unemployment. 

Marks: 70 

(18) 

(18) 

(18) 

(Y) 

(18) 

(14) 

(14) 

(14) 

(14) 

(14) 
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Time: 2:30 Hours 
Instructions: 
1. All questions are compulsory. 

yA.3 

yA3 

2. Figures to the right indicate marks. 

Q.1 

Q.1 
Q.2 

Q.2 
Q.3 

Q.3 
Q.4 

Q.4 
Q.5 

B.A. Semester - 1 (CBCS) Examination 
Oct/Nov. -2019 (NEW COURSE) 

SOCIOLOGY: P1 GENERAL SOCIOLOGY-1(ELECTIVE-2) 

BAOSocE21010 

(4) ljdlas auzal. 

(2) HIs Astol qall nd d_lal. 
(3) caLHl U eYAs allqRR. 

ENGLISH VERSION 
Clarify the characteristics of association clarify difference between association and community. 

Explain the types of social mobility. 

Discuss the causes responsible for clarifying sociological aspect. Give the meaning of Institution compare institution and association. 

OR 

What is sociological aspect? Explain characteristics of sociological aspect. Explain the meaning of personality discuss above personality and socialization. OR 

OR 

Explain the relation between personality and culture. 

(2) Basic difference between social science. 

***** 

Seat No : 

OR Give the meaning of social mobility. Explain the characteristics of social mobility. Write short note: (any two) (1) What is institution? Explain characteristics of Institution. 
(3) Personality and Geographical environment. (4) Heredity. 

Marks: 70 

(18) 

(13) 

(18) 

(1Y) 

(Y) 

(14) 

(14) 

(14) 

(14) 

(14) 
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Time: 2:30 Hours 

Instructions: 
1. All questions are compulsory. 

Q.1 

Q.1 

2. Figures to the right indicate marks. 

Q.2 

Q.2 

Q.3 

Q.3 
Q4 

Q4 

Q.5 

SoCIOLOGY: P2 KINSHIP RELATIONSHIP AND SOCIAL PROBLEMS(ELECTIVE-2) 

(2) Gaol Qun. 

(3) >. 

(4) cie. 

B.A. Semester - 1 (CBCS) Examination 
BAOSOcE21020 

Oct/Nov. -2019 (NEW COURSE) 

Give the meaning of kinship relation and explain it's characteristics. 

Explain the kinship organization of the northern zone in India. 
Explain the kinship organization of the northernzone in India. 

OR 
What is Gender? State the Issues of Gender. 

ENGLISH VERSION 

What is kinship Relation? State the categories of kinship Relation. 
OR 

Write short note: (any two) 

Explain the kinship organization of the southern zone in India. 

(2) Rules of Marrige. 

OR 

State the disparity in the birth and upbringing of son and daughter. 

(3) Clan. 
(4) Lineage. 

(1) Importance of kinship Relation. 

Give the meaning of kinship relation and explain the affinal kinship and consanguineous kinship. 

Seat No 

OR 

Marks: 70 

(1%) 

(9%) 

(18) 

(1Y) 

(18) 

(14) 

(14) 

(14) 

(14) 

(14) 
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Time: 2:30 Hours 
Instructions: 
1. All questions are compulsory. 

Que-1(4) 

Que-1(B) 

2. Figures to the right indicate marks. 

Que-2 

Que-2 
V-3 
Que-3 

Ml-3 
Que-3 

Que-4 

Que-4 

SANSKRIT: P1 BRTUHARI: NITISHATAK (FOUNDATION CLASSICAL LANGUAGE) 

Que-5 

B.A. Semester 1 (CBCS) Examination Oct/Nov. -2019 (NEW COURSE) 

BA0SanFC1010 

Translate any two of the following verses. 

Explain with reference any two of the following: 

Write critical not in detail on the lite of Hde 

Write detail not on the work of HeR: 

Evaluate iGRIdO{ as a Ho|oH 

Write not Bhartuharie's thought about tate 

Write note on lRGo HoRITI 

) ftEggjeI 

MAVOR 

Write not on the poetic style of the Hd�. 

Write Short notes on any two of the following. (3) yot Herq (Importance of welth) 

Seat No : 

yOR 

Marks: 70 

(oc) 
(08) 

(o6) 
(06) 

(t8) 
(14) 

(18) 
(14) 

() 
(14) 

(18) 
(14) 



647510 

Time: 2:30 Hours 
Instructions: 
1, All questions are compulsory. 
2. Figures to the right indicate marks. 

Que-1(A) Answer the following in one line or word: (Any Bight) () What is the vision of the programme Digital India'? 

Que-2 

B.A, Semester - 1 (CBCS) Examination 
Oct/Nov, -2019 (NEW COURSE) 

COMPULSORY ENGLISH(FOUNDATION) 

(2) What is the full form of DeitY*? 
(3) Who has written famous novels-*Distant Drum and A Bend in the Ganges'? (4) who is the owner in the story 'Lemon-Yellow and Fig ? (5) Which fictional town was created by R. K. Narayan for his literary works? (6) what is the full name of the poet of the poem-Father returning Home'? (7) Give the names of the some of the famous poems written by Robert Frost. (8) what is the form of the poem-"Stopping by the woods on a Snowy Evening"? (9) When and where was W. H. Davies born? 
(10) Who is in the centre of the poem-father returning Home? Que-1(B) Answer the following questions in two-three lines: (Any Three) (1) What does the poet mean by the word 'care? 

BAOEngFC101A 

(2) What, according to father, is the cause of Swami's headache? (3) Why is the new salesman satisfied with his job? 
(4) What is e-Education? 

Write short notes: (Any Two) 
(1) The role of social media in bringing about a change. (2) Father's Help: A reflection of the inner psyche of a school-going child. (3) The theme of the poem-Father Returning Home. (4) Personification in the poem-Leisure'. 

(1) Man, thou art 
(2) French is 

Que-3(A) Fill in the blanks with appropriate articles: 

(3) Which is 
(4) Yesterday 
(5) We have 

easy language. 
wonderful animal. 

longest river in India? 
European called at my office. 

surprise for you. 
interesting story. (6) I just heard 

(7) Please give me 
Que-3(B) Identify the types of the following sentences: 

(4) Show me the money. 

red hammer. 

(1) Dinosaurs lived millions of years ago. (2) Would you like to have a cup of coffee? (3) What big eyes you have! 

Seat No: 

(S) The ghee was in the fridge yesterday. (6) When will we get our results declared? (7) Shut up and leave the office immediately. 

Page 1 of 3 

Marks: 70 

[08] 

[06] 

[14] 

[07] 

[07] 



Que-4(A) Rend thc following passage 
Ram and Shyam lived in the same villege. While Shyam owned the largest jewelry 

Questions: 

Sop in the villege, Ram wAs A oor farmer. Both had large families with many song 

daughters-in-law and grandchildren, (One fine day, Ram, tired of not being able to feed hie 

Tamily, decided to leave the village and move to the city where he was certain to earn 

cnough to feed everyone. Along with his family, he left the village for the city. At night 

they stopped under a large tree. There was a stream running nearby where they could 

freshen up theselves, He told his sons to clear the area below the tree, he told his wife to 

fetch water and he instncted his daughters-in-law to make up the fire and started cutting 

wOod from the tree himself. Thev didn't know that in the branches of the tree, there was a 

thef hiding he watched as Ram's family worked together and also noticed that they bad 

nothing to c0ok. Ram's wife also thought the same and asked her husband - �Everything is 

ready but what shall we eat)" Ram raised his hands to heaven and said "Don't worry. He is 

() What did Shyam have in the villape to earn his bread and butter? 

(A) langest jewelry shop 
(C) School 

carefully and answer the MCQs given 

(A) Sons 

(C) Daughters-in-law 

(2) Who from the following wvere not the parts of the families of Ram and Shyam? 

(3) What did Ram ask to do his sons? 
(A) To fetch water 
(C) Clear the area below the tree 

(A) Ram 
(C) God 

(B) Farm 

(A) Eat 
(C) Go 

(D) playground 

(A) Shyam 
(C) Thief 

below: 

(4) Who was hiding there in the branches of the tree? 

(B) Uncles and aunts 
(D) Grandchildren 

(B) Make up the fire 
(D) Cut the tree for woods 

(B) Shyam 
(D) Thief 

(5) Which of the following words in the passage is used as the synonym of 'to swallow'? 
(B) Drink 
(D) Leave 

(6) Who is He' in this sentence -"Don't worry. He is watching all this from above. He will 
help us?" 

(B) God 
(D) None of these 

Que-4(B) Read the following passage and answer the short questions given below: 

Page 2 of 3 

[O6) 

A sanctuary may be defined as a place where Man is passive and the rest of Nature 
active. Till quite recently, Nature had her own sanctuaries, where man either did not go at 
all or only goes as a tool-using animal in comparatively small numbers. But now, in this 
machinery age, there is no place left where man cannot go with overwhelming forces at his 
command. He can strangle to death all the nobler wild life in the world to-day. To-morow 
he certainly will have done so, unless he exercises due foresight and self -control in the 
mean time. There is not the slightest doubt that birds and mammals are now being klled off 
much faster than they can breed. And it is always the largest and noblest forns of life that 
suffer most. The whales and elephants, lions and eagles, go. The rats and flies, and all mean 
parasites, remain. This is inevitable in certain cases. Civilized man begins by destroying the 
very forms of wild life he learns to appreciate most when he becomes still more civilized. 
The obvious remedy is to begin conservation at an earlier stage, when it is easier and better 

in very way, by enforcing laws for close seasons, game preserves, the selective protection of 
certain species, and sanctuaries. 

[08] 

watching all this from above. He will help us." 



Questions: 
1) What is the definition ofa sanctuary given in the passage? 

(2) What can humans do with their overwhelming forces? 
(3) What does a civilized man do? 
(4) What the obvious remedy to save the wildlife? 

Oue-5(A) Write a resume for the following: (Any One) 

(1) For the post of an English lecturer in the Prime Arts College, Junagadh. 
(2) For the post of a Computer Operator in a Jilla Seva Sadan, Veraval (Gir Somnath). 

Que-5(B) Study the following table and answer the questions given below: 

Runs 

Questions: 

Players 
David Warner 

Joe Root 

Kane Williamson 

Rohit Sharma 

Shakib Al Hasan 

Matehes 

(1) Who has played the maximum matches? 

10 

(3) How many runs scored by Willianson? 

11 

10 

09 

08 

(2) Whose average is the highest one among all? 

(4) who has scored maximum runs in all his matches? 

647 

556 

Page 3 of 3 

S78 

648 

606 

(S) Whose batting average is the second lowest among all? 

Average 

71.88 

61.77 

82.57 

81.00 

86.57 

(6) Give the total numbers of matches played by all the players mentioned in the table. 

(7) Give the total number of runs scored by all the players mentioned in the table. 

[07] 

[07] 
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B.A. Semester - 1 (CBCS) Examination 
BAOHinFC101B 

FOUNDATION HINDI: HINDI KAHANI SAHITY: KAHANI NAYI PURANI(FOUNDATION) 

1. All questions are compulsory. 

Oct/Nov, -2019 (NEW COURSE) 

2. Figures to the right indicate marks. 

Seat No: 

Marks: 70 

(38) 

(38) 

(38) 

(R8) 

(ol) 

(ol9) 
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